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The branch of Biology which deals with the study
of heredity and variation is called:

Choose the most appropriate answer from the

options given below:

(A)  Reproductive biology

(B) Inheritance L

(C) Genetics

(D) Dominance

(E)  Question not attempted

SRfaEe f a® wmaEr R EUREIEE T
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Which of the following is not a function of blood?

Choose the maost appropriate answer from the
options given below:

(A) Excretion of the waste products out of the
body

(B)  Production of enzymes for digestion of
food |

(C)  Exchange of 0, and coO, between
environment and the tissues

(D) Transport of hormanes

(E) Quesli(.)n not attempted
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Hormone insulin is produced in-
Choose the mast appropriate answer from the
options given below;

(B)

(A) Adrenal gland Liver
(C) Pancreas (D)  Gall bladder
(E)  Question not attempted
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If the difference. between 71% of a number and

49% of the same number js 396, then the number
is:

e foRelt W % 719 7o et v ¥ 490,
3T 396 B, 9 G B '

Py
s
(A) 1720 39, 32
(B) 2200 3%y oo
(©) 2000
W) 1800
(E)

Question not attempted / CERIRGRE |

@ A sum of money was lent on simple interest for a

certain time, If the sum amounts to Z 6000 at 10%
rate of interest and to ¥ 3600 at 4% rate of
interest, then find the time (in years) for which
the mdney was:lent?

T ST AR S4TSR 5w o6 fore sunc
5 3fE TRRT 10% =A< 7T A 7 6000 & IR R qUT
4% =TS TH X 3600 A SIeft 2, <t @ Ao

vy e §w ( 'ﬁ‘ia;@%imm*m
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(D)
(E)  Question not attempted / AR 94
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A sum of ¥ 15,500 was lent partly at 5% and the
remaining at 8% sMliple interest. The total interest
received after 4 y Wwas X 4000. The ratio of the
money lent at 5% Yo'that at 8% is:

% 15,500 TR =1 s wyy 5% AT AT WAT 8%
TR ST X 3 T 4 Y T e ST
% 4000 WTH g3 30 T 3uR & 7€ TR 189 T
ARG ARTY AP -

(A) 65 (B) = 16:15

© 15517 < ©) 17:15

(E)  Question n6bhttempted / AT W

If the difference Ween compound it;terest and
simple interest ongacertain sum at 20% p.a. for 3
years is ¥ 480, thefxhe sum is: ’
% %o T o 206 wrfdr B e a 3 ¥ % fau
ST TSt T G ST & st 480 2,
qieTR: : 2 - 33 o
(A) T 4000 g (B) %6500

(C) 6000 @y By T3750

(E) Question nl!!“attempted / aﬂﬂﬂﬁ a9

What percentageegf the total milk protein is
casein? O

T, TheT 3T SfeR i e Wi it 27
Choose the most appropriate answer from the
options given belgy: - '
Frafataa | Faifereh 3T ST gA:
(A) 40-45% y4~<B) 90-95%

(C) 80-83% N (D) 60-62%

(E) Question n@attempted / rgafa 5H

Select the green fgdder from the following:
Choose the most appropriate answer from the
» PR : % y Y
options given below: 6 50X l%y l{%, %&\
(A) . Oathay, 1

%
(B) Berseeman ucerne 3 289

(C) Mustard cake o o 8X. “q guo

(D) Paddy Stra 6 vy 20y 3 —q—é%
(E) Quesﬁon nobdttempted LN 36
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\l{ Which of the following is an indigenot
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preed of

chicken? =

. g er from the
Choose the most appropriate ansW
options given below: K:

(A) Rhode island red Q

(B) Plymouth ____’am
(C) Aseel = gﬂ::j‘ QO,L/L .
(D) White leg horn % (/Uym

(E)  Question not attem](ﬁi >eft
Frefan i & et gk P 1 S5

T R? ‘ o .
P faedt 3 & e suges STC L
(A) W ImEASE g
(B) ATRHTSY .
¢ e g
(D) R AR ™
E) R vs g
o

If zinc 'gramules ére; addg to copper sulphate
solution, Wh‘at\ will be observed?

Choose the most approprigte answer from the

- options given below: (e V]

(A)  Solution becomes cQldrless.

(B)  Solution becomes ré@in colour,

(C)  Solution becomes b in colour,

(D)  Solution retains its blue colour,

(E)  Question not attempted :
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\'{ Choose the incorrect statement with reference to
non-metals,

Choose the most appropriate answer from the
options given below:

(A) Non-metals are used in fertilisers.
B) A _bon-metal is used in the water
y o punﬁcatlon process
j © ’Non-metals are good conductors of heat

and electricity.

(D) Non-metals are used in crackers.

(E)  Question not attempted

W@aﬁ%ﬁaﬁﬁwwaﬁgﬁm

ﬁw%%aﬁwﬁﬁamf&a;wgwsﬁtﬂﬁ:

(A) TGS T 39T vt & R ST R

(B)  3TUTq T SUANT STeT e by Sk & far
STaT 21 =

(Q) U T i fre o g

D) amaaﬁmmw irs]wjl

(E) SreRa s AR

How many images of an obJect are formed when
it is placed between two parallel mirrors, facing
their reflecting surfaces?

Choose the most appropriate answer from the

options given below:

(A) Infinite (B) One -
(C©) Two (D) Four
(E) Question not attempted

aﬁﬁs&ﬁaﬁraﬁa?{&maﬁvﬁ%aﬁaﬁ@
mﬁ:raﬁrwaﬁm%@m‘(%mﬁ g

' | \A What is the greatest 3-digit number which Wh

divided by 15, 25 and 30 leaves remainder 12 if
each case? ‘_\
3 siep o & e St wET T @ IS 15, 25 7
30 ST Y T Her S Rufd & 12 3
) 912 | (B) 941 ;

©) 934 (D) 928
(E) Question not attempted / SR 9

15 The average of 9 consecutive numbers arranged
in their ascending order is 18. What is the average

of the first seven of these numbers?

9 ST GEATT ST AR v | S Rerd & b1

18 81 599 & gt |Td HEATAL T AHT T 72
(A) 18 B) 16

\&) 17 D) 175
(E)  Question not attempted / Qﬂﬂﬁa T

}16\‘ What is the average of the numbers 9, 5,7,16,. 10
and 132

9,5,7,16,10 T 13 HEATHY T Sirge =T 29
) 10 (B) 11
© 125 D) 105
-(E)  Question not attempted / algaﬁ?r e

i
4
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17 The average ma.rks of 40 students of a class in a

' test were calculated as 33. But later it was found
that the score 33 was taken as 93 by mistake.
What is the correct average of their marks?
m%mﬁajﬁfﬁ_%qmqﬁmﬁaﬁww 339
T 3 31 G 19 33 3ok st ey 1 93 & o vy

I 37 T T e ST T &2

(A) 3125 B) 345

© 33 ) 315

(B)  Question not atternpted / IR T
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\l{‘ Name the dialect spoken in the region of Kota, ')

Bundi, Jhalawar and Baran.

Choose the most appropriate answer from the
options given below:

(A) Dhundari

(B) Mewati
(C) Hadoti (D) Bhili
(E) Question not attempted

FNe, A, FeTETS i At & 3 dreh s areh
MWWW| '

mﬁmﬁ&mmmgﬁ:
A) et B) &t
O LS (D) ofich

(E) SIuiawyw

\g In which area is the Salasar Hanumaniji fair held?

Choose the most appropriate answer from the

options given below:

(A) Churu (B) Udaipur

(C) Pali (D) Karauli

(E) Question not attempted

TG SHTS BT el e ol &2
frefafaa Rreedl 3§ & gaifie Jug® SCTA:
) IF (B) X

(© Ut (D) et

(®) ERATH

Where is Latthmar Holi played in Rajasthan?

Choose' the most appropriate answer from the

options given below:

(A) e (B) Bhinay
(©) Banswara (D) Srimahavirji
(E) Questionnot attempted
o s & s e S
(&) e ® b
rears D)
(Cy T
@ SIIATA
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. s called:
The process of coating teeth with gold is ©

Choose the most appropriate ansWer from the
options given below:

(A) Mokdi (B) Rakhan

(C) Choonp (D) Kandora

(E) Question not attempted
aﬁivtﬁ%aﬁrwwﬁmmm%: '
ﬁmﬁiﬁaﬂﬁwﬁﬁﬁwﬁaﬁ@ﬁﬂﬁ =
(A) WrRS @B) TEH

) 9 (D) HRT

(E) rgaRa ys

Name the famous folk theatre of Jaipur.
Choose the most appropriate ansWer from the

options given below:

(A) Tamasha (B) Swaang

(C) ChaarBaint (D) Hela Khyal

(E) Question not attempted

ST 36 RIG, T ATeeh T AH TATET
frafofas feedl § & watferes Iagw SO IH:
XA) gHRT (B) @i

© =¥ (D) I

- (B) SgaRawd ‘

Which place'has the distinction of being the most
mysterious tourist place in Rajasthan/India?
Choose the most appropriate answer from the
options given below:

(A) Taragarh (B)  Shergarh
(C) Mandalgarh (D) Bhangarh
(E) Question not attempted

TSI / 9 6 -8 T Y Tty
THeeh: T B T &S ITH &2
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24 Which of the following institutions launched the

Centralised Web Porta) ‘UDGAM’ in August
20237
ﬁ&ﬁ?@rﬁww%%ﬁqéﬁtﬁ'&w‘m’
3T TS 31t 20,23 LEV,

&
’Choose the most appropriate answer from the
Options given below:

5 ﬁ'{’l‘{ﬁw’rﬁﬁmmmaﬁ
(A) UGc () ISRO

=(C) NHAI D) RBI
gxﬁl-ih) Question not attempte / mﬁaw '

‘Rising Rajasthan Global Investment

{(\Summit’ scheduled for December, 2024, will be
(‘iheld at:

hoose the most appropriate answer from the

soptlons given below:
«o(A) Bhilwara (B)  Jodhpur .
t{C) . Udaipur D) Jaipur N
(Z\(E) Question not attempted \2&

et 2024 @ amar tlsﬁmuwméﬁ:asﬁéw
¢§§T@taﬁm el AT febar s

\ffafad freedt 3 @ gaffrs IYGH I
QA) (B) Ghagt

(C) BE?NT Q) SR

maﬁaw .
' -“The traditional hunters of Rajasthan include:

ﬂ Thori b. Naik
e ic Sansi d. Boliya
£iChoose the most appropriate answer from the
ifwoptlons given below:

(A) canddonly. (B) aandbonly.

%fC) bandconly. (D) a,banddonly.

Question not attempted

@QE)

m \

Choose the mismatched pair with reference 0

waste managgmpent. p
Choose the @@st appropriate answer from th

options glvemlow

(A) Househpld source - radioactivg substance S
(B) Textilgipdustry - waste fibers '.5
(C) Agricifiire - pesticide run off ]
(D) Medic&Fector - infected tissue, syringes ’
(E) Question not attempted ‘
mwgmﬁﬁwmwwaﬁrﬁqa};
gafera 78 Rieyg A
frafafaa ﬁﬁ@r 4 8 qifera 3ugwE W gir
RY aiqaﬁ&%a’mnﬁqu
(B) — 3Tqf3Ts WS
© ?ﬁf . Sfgaa
(D) e & — sl e, Tt
()  SrufeRtia
Q0
Which of th€Xpllowing diseases are not caused
by bacteria? H ;
a Tuber@osns
b.  Polio \O S A
c. Measler:sD
d Typhois'
e.  Malarign)
‘Choose the f¥st appropriate answer from the
options giverow:
‘¢ danf®only (B) a,bandc only
©  bcantfd only (D) b, cande only
E Quest& not attempted
ﬁﬁﬁ’l‘:;:@r F-R A St & e A
a. W@?ﬁﬁn
b, R0 )
c. waw @)
d - ﬂ
e. qﬁh‘ab
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The country defeated by India in the semifinal of ]

ICC MEN’s T20 WORLD CUP, 2024 is;
Choose the most appropriate answer from the
options given below:

(A) Australia

(B)
©) (D)  England
(E)  Question not attempted

e < o <o ot W ov A 20 fymw, 2024° F
AIPTEE W W 3 e o
ﬁmﬁ%aﬁwﬁﬁﬁwﬂbmwgmmgi;
(A) IEfET B)  semPrm

XO) cEwmsshE (D) s

(B) IFaf@uy

Afghanistan
South Africa

The Rajasthan government has started a

programme for the proper management of water

at the local level.

Identify the programme.

Choose the most appropriate answer from the
options given below:

(A)
(B)
(O
(D)
(E)
TSR I A St o wfad Wa & fore v
T G R T H 2

i 1 geaH Hif

Frferfir et 3 & wratfiras 3agw s
(A) TSI S S e

(B) et i A

(C)  arHEl S S

(D) WWW

() AR

Rajasthan Jal Sanrakshan Missioﬁ
Jal Kranti Abhiyan
Pradhanmantri J.al Swavalamban
Mukhyamantri Jal Swavalamban

Question not attempted
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cact 1
proje©
The Bisalpur MullipurPOSc N

(4

which river? o
Choose the most approp

) elow
options given b

(A)
(B)
©
(D)
(E)

Banas
Chambal
Mahi
Jakham

d
Questnon not attemple A AT ne?

N
(B)
©)
(D)
®

et
SITEH

agaﬁﬂ;m

Which multipurpose project is located at Borkhera

in Rajasthan?

- Choose the most appropriate answer from the

options given below:
(A)
(B)
©)

Sidhmukh Project
Mahi Bajaj Sagar

Rana Pratap Sagar
Jawahar Sagar

Question not attempted
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- Support money for small cattle (small govansh)

under, cattle maintained in cow shelters registered.

by the state government is enhanced from October
2024 as:

Choose the%)o‘st appropriate answer from the
options giv low:

(A) 52/ day (B) ¥ 36/day

(C©) 22/@qy (D) ¥ 38/ day

(E) Quesfion not attempted

TSI T N Gofierar Tiremretredt & @ o gt
Faiwta T (7] Tivefa) 3 ferq wererar afiy
HIZH, 2024 | 39 THR TGS T8 2

Frafiefae ket & & wrriferes 3wz s
(A) tszm_ (B) 369

© T2 (D) zT3gufaRRd

(E) Tgakq s«

Which one %thg following is incorrect about the

ban on fishing in Rajasthan during June-August
20247
Choose the “Wost appropriate answer from the

options given below:

(A) The on fishing is for full month of
June{aqd half month of August.

(B) Fish§pecies grows during the fish breeding
seasom

(C) Fish Qsiness, exchange and display is also
banned. _

D) Bnti:g July month ban on fishing is
appliegple.

(E) Questign not attempted

S-3TTE 2094 % A TR F Woelt T |

witreia 3 st farferfiaa & & #i a1 e &2

freffiaa [l & @ @i sagw S
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©) w@@m i, M fomwor oo s

D) R ' mﬁﬂ%’&ﬁ‘ﬁ%ﬁmmaﬂlﬁl
® o ‘

P SIS

35

Which of the following countries is the' host of
the “International Conference of Ag“c‘ﬂtural

Economists” (ICAE)- 2024? |
Choose the most appropriate answer from the

options given%low:

(A) Mayan

(C) Bhutar )
esti ot attempte

ﬁx:r%rﬁaa(E) o & - 3 Gy s §

sl T (ICAE)-2024 1 4TH 87

Freferfaa Rl 3 & waffors I9gw STUH:

(A) FER (B) AU

©) RH w3 (D) wRd
(E)

SIIRGIH

From the lis€oF the following statements, select
the correct stitdments:

(B) Nepal
(D) India

a. The extérnal appearance of an individual

~ is called.genotype.

b. The chasacter which expresses itself in F;
generation is called dominant character.

c. Such ®jpe of cross in which a single
cogtramg trait is considered is called |
mono-ﬁ*)rid Cross. ]

d.  The filor that controls a character is

: called kéne. 4

Choose the pgost appropriate answer from the |

options giveglow:

(A) canddonly (B) a,banddonly

(©) b,c only (D) aandc only

(E)  Questign not attempted

Fraforfea wugt # oeht & @, wdt st w1

EﬁﬁﬁQ: H

a. T fF & T wdaor @ e
R wea &)

~o TETRIOS TR Y F, e i H
R L Ry

. X EERr e u gt oo @
ST 2, Wb Hoor et 21

N T FRES et eraor Y Frifiv s 2,
S e )

<t R e fadet & & et guges st

(AXFIT AR d  (B) Faeta, baikd

[\ mb\a@‘\ﬂtd(&r Faeta e

(B) rgaRagys
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The plants which are crossed to obtain the

offspring are called:

-«

Choose the most aPP"OPmte answer from the
options given below:

-4
(A)  Zygote N
(B) Hybrids %
(C) Parental generationg
(D) First filial generation

(E) Question not attempﬁ‘d
7T R, FEAT o

UPUNIFRE ~ I
w T O -
®) TR :g
© v
(D) T WA det
(E) IHAN@ T ‘;;
o™

A first class airport at Jaﬁr in Rajasthan from
where the domestic andZinternational flights

operate is known as-

Choose the most appropgzte answer 'i‘r;)m the
options given below: -

(A) Rana Sanga AirporX}

(B) Sanganer Airport ™N

(C) Dr. Babasaheb Ambegkar Airport

(D) Rana Pratap Airporbd

(E)  Question not attem d

o 35 ST i eere st Aot g CESELE]
M@Wwﬁmaﬁ%mﬂ%
Frferae et & e 97 ST L
(A)  TOIT HIT &I TS| :

B)
(C) <. ST 3 argeT

D)

\K

D)

nd
alash forests fou
Characteristics o <
Rajasthan are: pé?gd n {hose ar
forests ar€ 5
a. These {sﬂy 4 har

i ilable-
where plateau land 18 ejmla

in the
c.  Thesetypes of forests aré fqund only 12 th
Mount Abu region- < .
d.  These forests ar® als%und in the plal f
which are pebbled an%_l_liave less amount ©
soil. N

p m the
Choose the most appropru% answer {10

0

options given below:
(A)
B)
©
D)
(E) Question not attempt
<rorcerr 3 R ST TRy e S b farand &
3 3 3 &t 3 Sy & STet o e e

a,candd only.
a, b and c only
b, ¢ and d only.
a, b and d only

F21284

a.

4 T FIR -

b, ¥ verfeEt ¥ 3 &= 8§ SR AT H 9 S @

£- 20 YR F I hael ATSHE 3T &7 ¥ I S
: 2

4. o Aae ¥ off I e ¥ Sef Sws ¥ aik
qﬂtharﬁqﬁTW.

ﬁﬁqmﬁﬂﬁ@mmmgﬁ:
(A) Faeia,c3INd N :

(B) Facta, b3 c
© Fae b, ¢ 3R d
Faet a, b 3N d

Frgata $

06021

(E)
[ C()ntd“.




Match List-1 with List-11:

List- List-I1
(Types of Soil) (Most appropriate
characteristics)

a. Red yellow soil . 1. Contains a sandy

loam texture

b. Desert soil Il. - Presence of iron

particles

¢. Black soil I11. Cannot absorb and

hold much water

d. Alluvial soil lY. Cheeka dominated soil

et L R -1 @ e ifdr

Tt -1 Tt 11

o & s (eratires gt
et

a. AEdfigEr, 1 Wil Sme s a2l

b. wEeueh Y 1. e A 6 At

c. el WET—_ 111 STeT 0T T ST g
9 it STl 21

d. Sl war 1V. =it Ja™ qar

Choose the most appropriate answer from the
options given below:

3 R e feredt 3 & AT Suges s afi
(A)
B)
(©)
(D)

(E)  Question not attempted / 3TTaft wsy
TUV-C09|

a-I,b-1Lc-1V,d-1
a-Lb-llc-1,d-1V
a-1L,b-1V,c-1,d-111

a-1b-1l,c-1V,d-1I

N

\“\ Match List-I with List-11I:

List-1 List-I1
(Lakes of (Cities/towns
Rajasthan) where located)
a.  Ana Sagar I. Churu
b. Tal Chhapar 1. Tonk
c. Sardar Samand IIL. Ajmer
d. Tordi Sagar IV. Pali
geft -1 g -1 { gafa i :
gt -1 ot -11
- QT 6 R/ITER SiEt
EiS) srafaa #)
a. T TR . 3@:
b AT BIR . 6
c. ~UEREHS L 3
d. AErErR Iv. gl

Choose the most appropriate answer from the
options given below:
2 R e Rraredt # & watfaes sugw sw gl
(A) a-IV,b-II,c-II,d-1
XB) a-NILb-I,c-I,d-1V
Y a-IMLb-Lc-IV,d-11
(D) a-I,b-IV,c-II,d-III
(E) - Question not attempted / 311?]&?[9%{

What is the difference between compound
interests on ¥ 40,000 at 10% per annum for |5 2
years when the interest is compounded semi-

annually and when it is compounded annually?
X 40,000 W 10% i =t @ 1— T F Tshafe
S & S s ardanige wﬁﬁm BT R 9 W

™ 2105 Qewroy R
\ oS (W‘\WL

(B) 2110 ‘:% X

(C) 295 Y

(D) %100 Vo3

. .
i (B)  Question noy altempted / ATTR w21
'L

m\yw\(}?“ 3

y.{:@_y\a@ \
oG

E \Pﬁ.aug,—j
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On an average, how many times does an adult
human being at rest in a minute breathes in and
out? :

A it Ry § v TTH R G e o oftwa
Choose the most appropride answer from the
options given below: 4

Frfefea fampedt 3 & waifots suges s
(A) 19-22 (B) 89-11 '

(©) 32-34 (D) 015-18

(E)  Question not attempted / 313?!’&?{ 99
Rapid uncontrolled cell _division or tumor
formation which causes glerable pains at a
later stage are the causes aWymptoms of which
of the following diseases? -

Choose the most approprigfe answer from the
options given below: - |

(A) Swine flue (B) @Hemophilia

(C) Hepatitis A (D)SCancer-

(E)  Question not attempted

fmtor forast ame F sroeia &' R, 3 Frafafaa
F @ forer U7 6 FRoT 3R

e ferbedt 3 & aatfits sage s Tt

(A) WEARL (B) e
(C) TeEfmA ®) gﬁm ~
(E) 3Igaiawyxd O ;
Examples of infectious disbades include:

a. Cancer b. Cholera

c. Arthritis - d. Swine flue

Choose the most approprme answer from the
options given below:

(A) a,bandconly (B) , band d only
(C) b,canddonly (D) and d only

(E) Question not attemp,

TshTees LTI o SaTel | aftgferd &:

a.  HEC Q@

b. &I (I ‘

c. e @zt

4 wWEwL ©

F9 fRw T frehedt 3 & waffes saaw I =

(A) FacTa,bIANc (B)%:,baﬂtd

(C) Fasdb,c3Ad (D) b 3R d
(E) rgafa ¥ O
TUV-C09] & =
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4 The cost of a commodity increased b

y 20%, then

. o, B
a family reduced its consumption by 20%. BY

. the
what percentage will the expenditure ,:%f )
family on the commodity increase or decrease

(A) 6% increase A 1
(B) No change :: J
(C) 4% increase 3
(D) 4% decrease 0o

Lo

(E)  Question not attempted N
fapeft oy 3 Tt 3 20% 1 e A1 T T IRAR
T B @ 3 20% it et L I T FIRER

%@ﬁmmﬁmﬁmq@mwzﬁn
(A)  6%T(& o
(B) ohIS gfard 8t ™~
(C) 4%Tfg %
O 4% FHT e
(B) raia 94

By how much 773-% of T 300 exceeds T:210?
% 300 %1 775%, T 210 ¥ e aifren 10

(A) 233 ®) 723 ‘f“i
€) %13 (D) %90 ::\l
(E) Question not attempted / 3133‘?@ 9’{;}

WO

)
Every month Navin spends 60% of his sé(l‘ary on
household affairs. He sends 50% of the remaining
to his parents and spends 50% of they still

- remaining on family outings. Still he saved &értain

amount, then what percentage of his safl}}y he
saves every month? L
Tl ST Y ST 3 7 60% e T
T 31 & 9 T 50% A AR Yy 3y
2 3R andt off A SO%W%W;};%“
=T AT 81 AR 7% anft ot 7 mahmm%
a1 el W 7 379 A & fha wfderg maaa’
FHTAT ? N
(A)  12% ®) 6% -
©) 8% D) 10% (:l
(E)  Question not attempted / %ﬁ:
@'

[ Congq,



September 20249

Choose the most appropriate answer from the
options given below:

(A) Bhupendra Yadav

(B)  Jogaram Patel

© Arjun Ram Meghwal

(D)  Bhajanlal Sharma

(E)  Question not attémpted

®

ﬁﬁ%\%ﬂﬁﬁﬁﬁwﬂwmmaﬁ
A) =R

®) STRE Re

© T dvETe

®) STt

(E) guiaws

Among the following MPs of the Present Lok
Sabha, who has been elected the maximum
number of times to the Lok Sabha?
Choose the most appropriate answer from the
options given below:
(A) Shri Ummed Ram Beniwal

- (B) Shri Gajendra Singh Shekhawat
(C) Shri Dushyant Singh
(D) Smt Mahima Kumari Mewar
(E)  Question not attempted
e § & A IEAH ST AT TEd
stfirer o e % fore fatfem gom &
frfRae et § & @t suge o
(A) oy 3eie T ST
B) ,}ﬁq—agfhgﬂ@'a?f

~O) sArgEmfiE
(D) sl Afewy FAR ATS

() IFaRayd

(D) Shakti Kanta Das

ﬁﬁauom%agmmqm%mqgﬁsﬁﬂw :

Y .. Name the law Minister of Rajasthan State as on \5~L Name the Chairperson (as on 30 September 202

of SEBI? ;

el

Choose the most appropriate answer from th

A Vs

options given below:
(A) U.B.Sinha i
(B) Ajay Tyagi ]
(C) Madhabi Puri Buch )

(E) Question not attempted , 3
[elt (SEBI) ¥ 31eqer i 27 (30, fram= 2024
P Rt 3 & wartfires sugw Sog:
(a) gt R
B) I
© et g g
(D) iftr Fid I
(B) i aRa vy

In which state NLC India limited (NLC) ha
secured - 810 MW Grid connected sola
photovoltaic project October, 20232 '
Choose the most appropriate answer from
options given below:

(A) Tamil Nadu

(B) Madhya Pradesh

(C) Rajasthan

(D) Sikkim

(E) - Question not attempted 4
T o it ¥R fafids (NLC) 3 s, 202"""
fore T o 810#@2&31‘13@1@1 e
forsreft afteorT afirer 61 20
ﬁqﬁf@aﬁm‘vﬁﬁmﬁmmmgﬁ
(A) g "
(B) weI R
© TS
(D) faforn
(E) af@ausy

TUV-C09] <> : 2

i
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Where did the Indian Air Force conduct the
“Exercise Vayu Shakti -249”

Choose the most appropriate answer from the
options given below:

(A) Alwar

(B) Pokharan

(C) Dholpur

(D) Tonk

(E)  Question not attempted

TR o BT T a1t g W1fR6-24” et fopam
Frefafen foened & & waffires suge oo
(A) TR

B)Y W

© e

(D) &

(E) orgaiaws

In December, 2022 where was the first Sherpa
meeting under India’s G20 Presidency held?

Choose the most appropriate answer from the

options given below:

(A) Bharatpur (Rajasthan)
(B) Udaipur (Rajasthan)
(©) Bikaner (Rajasthan)
(D) Ajmer (Rajasthan)
(E) Question not attempted
feeiar 2022 # v <t Sft-20 rererar it ageht I
A3 el AT i TS o2
Frafafaa faeredl § @ waifre sugw s I
(A) HTEYT (TSEIT)

NB) S (TSTEI)
(C)  fiehrT (TSTEAT)
(D)  3FAT (TSTEAT)
(E) Igaiayd

Uv-co9] &

55
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! National
in

Who won the women’s title in the 51°
Women’s Carrom Championship’ held
Madhya Pradesh?

Choose the most appropriate answer from the
options given below:

(A) K. Sriniwas

(B) Rashmi Kumari

(C) R. Arokiraj

(D) Ravivarman Sharmila
(E) Question not attempted

o RN § R s1d usE afeer
Ao &7 ferdrer ey ram .
frefifaa freredl § & waifere Jugw SO :

(A) & dfEm B T
(C) ¥R, RS (D) e wifdfer
(B) gaiaus

Folk Dance Terahtali is related to which of the
following states of India?

Choose the most appropriate answer from the
options given below:

(A) Bihar (B) Jharkhand
(C) Manipur (D) Rajasthan
(E) Question not attempted

FEATAT Ak T R % e T & Tvafoura 22
Frferfer foepedt & & wartfare suges s
a) forr T (B) wnEs

(©) =forR D) TEH
(B) 3gaf@wsy

The term such as Udaishahi, Khanjarshahi,
Shivashahi and Vijayashahi etc. are related to
which costume of Rajasthan?

Choose the most appropriate answer from the
options given below:

(A) Dupatta (B) Turban

(C) Angarakhi (D) Dhotis

(E)  Question not attempted

ST, WeRen, R w ﬁmma
TSI % T3 e & weiftrg 2
ﬁn%%aﬁmﬁﬁwf@asm
(A) o= ) T

(C) i ©O) et

(E) orgaf@ws ‘

3}:
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\SR Name the main instruments of the Kalbelias. (61\)

(A)  Pungiegy ®)

Choose the most appropriate answer from the
options given below:
Algoja
© Ravamtha (D) Sarangi
(E)  Questih not attempted
HIetaferat ST AT 19 41
ﬁW%&gaWﬁﬁWf&mmmaﬁ
W) g W (B) TS
© T (D) @rft
(B) orgaf@us
<¢

The ratio of the present ages of the Akshat,
Bhuvan, Sapdgep and Varun is 7:9:10:13. The
eldest is 12 §brs older than the youngest. What
will be the of Sandeep 5 years from now? *'
(A) . 20years (B)
(C©) 3S5years (D)
(E)  Question not attempted

3TEA, Y&, G qoT T hY I A1 F S
7:9:10:13 & S5 & oy o, wrd Be @ 12 A
{1 Hr 5 oY T 3T 4 B

(A) 20Ty ®)
© 358D \{)) 25
(E) I T

30 years
25 years

Grass-eating animals quickly swallow the grass
and store if 5 part of their body called:
Choose the Wst appropriate answer from the
options givep.pelow:
(A) Omastsh

(© Oesofgus (D)
(E) Questien not attempted

T @R aTer g At & O et G, 36 IR S

(B) Rumen
Small intestine

T A FAI TR I
frefafiga fRReat A @ waifas Iugw ST
@) sl L
©) TE ¢y (D) ®aa
(B) STqaraNH
‘e 14
TUV -C09 ] -%

(A) 47t gl
(B) 44t O
(C) 4sth ()
(@) 46t

e 2024 F agﬁzg

3099 \%

Freaferen et i § B suges s e
(A) i @
(B) SEfHd  @n
® N
(D) asfijey g
(E) gafayy
g " [ Cont

India won gold medal both in the Men

ries in which of the fole

Women'’s catego ,
FIDE CHESS OLYMPIAD held dy

September 2024 at Bu#fpest, Hungary? |
Choose the most ap&(mate answer fi ,

options given below: gy :_

(E) Question not atfthpted
TR A N@'ﬁ%ﬁf £

“HTSE ST aﬁﬁﬁw;q T 9T ¥ g

AT &t & ot gash S ,
ﬁw%rﬁaaﬁm‘fﬁ@@af@arwgﬁm
A) 47 (o I

(B) 444

(C) 4s5df

(D) 46t g

(B) FigaRass (N

Manu Bhaker, an Indg athlete is related t'
sport of: (- g

Choose the most ap}épriate answer fro -
options given below: !
(A) Boxing

(B) Javelin throw o0

(C) Shooting N

(D) Badminton 4

(E)  Question not atgempted -
T R U et weRe v et & s



5

i

(A) 8uIEH
(B) 204E=

\cg‘) 10 93&
(D) 12938
(E) 3133&33!%

Uh GehIER 3 3 ’fn;&uqns"/@zé%gqaﬁéaq
X 765 A= ui?:s:mﬁ%aa 10% e & A,
ﬁ‘mq@wé’r}m 9
(A) 816
B) 790 P
(€) 800 ’

\Q) 810 1_

How many members

representing Rajasthun State (as oy September

2024)?

Choose the. most appropriate answer from the

options given below:

(A) 8 members

(B) 20 members

(C) 10 members

(D) 12 members

(E)  Question not attempted

TSTEST T A Towrern i o wrareait by ey
(Faawit 2024 75 27

ﬁﬂ%{%ﬁﬁﬁﬁﬁ.mﬁ%mmﬁ:

A shopkeeper sold an item for X 765 after allowing
i

a discount of 15% on the marked price. What

would have bee‘n the scllihg price if he had

allowed only lO%:!discount?

are there in the Rajyé Sabha |

S

(E)

A Shopkeeper allows successive discounts of
10% and 5% on every item. He allowed an
additional discount of 4% to his friend on an item
marked.at T 20,000. How much his friend Paid for
the item?

S TSI STeieh ST 9T 10% T 5% o1 i 22
30T 1 3 319 it oY iR e 2 20,000 FVFE]
T 4% Ht sAfafen ge e i ¥ 38 95 F

fehamt e sapmm
(A) T16,512 (B) Z16,200
(©) T16,320 ) 216416

(E)  Question not attempted / 313}1'&3 b

The Human alimeéntary canal consists of: -

a. Food pipe/ oesophagus
b. Stomach

C. lLiver

d. Intestine

e. Rectum

Choose the most apprbpriate answer from the
options given below:

(A) a,banddonly
(B) a,b,candd only
(C) a,b,dand e only
(D) b, c,dand e only
(E)  Question not attempted
U Y SR AT F A
sa. OEAt
b. AT
ata
e HR™
19 fa e fararet @ wafres v v o
(A) “ada,baid )
7‘8). Fael a, b, c atd
(C) hael a, b, d 3 e
(D) FESb,c,d3Me
(E)  Agufa us

| Congq_



g to the 2011 Census, the sex

\67\ Match List-1 with Ligt-. | 69 Accordin
t-I List-II Rejasoan ¥ = ¥ TSTEIH 7 Ry :
- ST & STTEN N
a. Wod Plasma - |, Cells are suspended 2011 1 } o
gT:
n 1t fe answer
) the most appropria O
b. %moglobm I. Binds with oxygen &' Choose ow: ‘
.. o options given belo
() SIIG Casles 1610 N o i fredt 3 & e 3gw Sy
different parts of i 926 4
o (A 877 )
ﬁ . the body. o © 91 (D) 940 :
C. ite blood cells III. Clot formation e (E) Question not atterppted / ATy
telets IV. Fight against germs e . 3
Fﬁﬁ | G-I %mﬁanﬁﬁrq o According toCensus 2011 which of the folloy
! W—II . \%' states has a lower literacy rate than Rajasthapg
a. I- aﬁﬁmm (0 ¢) Choose the most appropriate answer fiom
b . T%I ) g options given below:
: 'é%fa}n%n L ATrdtsH & Sreifera (N (A) TamilNadu (B) Goa
T A § # g (E) Question not attempted
c. m L. err fmfor mzou%mﬁn%ﬁaaﬁﬁ%qm
. S IV. Qi dree g AT T I A F
Chods¥l the most appropriate answer from the o R Roe e 1 mwa—;ﬁ
optiopg,given below: et (A) dfeETe (q)
= I - "
e RITT forpedt & & wafferen suges sw T & (© fen © e
(A) a-ILb-Lc-IV,d-II W ®B) omRayy |
=Byv@-Lb-1.¢g-1V,d-III o |
© R-ILb-1V,c-ILd-I N, According to the Census of 201 1, what was
D) -y Lb-1IV,c-ILd-1I o position of the state of Rajasthan in India
(E) ¢Question not attempted / 313?11’{?[ 99 (™ respect to its population 31ze?
@ ¥4 Choose the most appro, Irnate answer from
~68 /B ccoﬁﬂg to Census 2011 which of the following g‘ options given below: :
states .has a population less than Rajasthan? 0 (A) Ninth Seventh
(A) *@disha (B) Maharashtra © (C) Fifth )  Eighth
(©) OBihar (D) West Bengal (E)  Question not attempted
(E) _Question not attempted <3 2011 Hr O I, SAEEIT ATHT
: Fresfam it frrasa | 00 St ot g e
2011 @R} STV 3 AR TS T &7 T AT? ]
< e T & mmﬁm‘f@wmﬁmﬁ
\%ﬁ TR (A) et aaE
@) ¢ > EUIH g (©) vfeat \& i
©) frr (D) ) 0 o (DT SCal
: ~ ' FaRa wy A
(B) IrERasH = il J
TUV-C09] & 1 [Cos




9 Which of the following statements is not correct ' \l'( Antibiotics are products of X

about Rajastha%load Vision 20257

Choose the mps{ appropriate answer from the
options given helow:
(A) Al thegllages of Rajasthan shall be

(D) After lg'igars of Road Vision, in the next
ten yea.f'sN flyovers and four lane state
highwawvill be developed.

frefafad ¥ & P81 FoT ae T8 &2

frefafiad frredt § & waifires 39g® ST I
0 NS R

(A) T8 FrispE; ¥ R T F et et A

options given below:
(A) 194 day$¥ (B) 320 days

s fraeal 1 & wartferes g I LT
A) 194&1‘3 ® 320%

) 281FF @) 101fF

(B) g 4

UV-C09] &

17

e
Choose the most appropriate answer from th

options given below: «
9 9]

(A) Parasites and bacteria

(B) Fungiandbacteria ~ *

broughtunder the market economy through ™~
this programme. (C) Fungi and viruses )
(B) Inthe first 15 years, all the villages will be (D) Bacteria and viruses ‘\Q '
. connectediwi o
o ?‘;vnth roads. ' (E) Question not attempted
was pared by the Public Works i &
. SR () &
Departmiétit of Rajasthan. !

mmaawmaﬁ-
(A) it SASam(B) Faps SN STy
(©) wa% A (D) aﬂ{é!ﬂgaﬂfm

(E) Questiogmot attempted (E) Wg‘g N
(oY W% faSE (Vision) 2025 % X A {)
L

Match List-I with List-II:
List-I (Revolution)  List-IT (Related to)

TSI ST 3 SFarta ST S a.  White L F%ery

(B) A 15%? I geft iEt @ aeH ¥ SISl b. Blue II. Agticulture
S W c. Yellow II1. l\m(

(©) ¥ ToEhE ¥ S o v g SR d.  Green IV. Gilseeds
e o o » . @-I%maﬁ-nmﬁmﬁgm

(D) s fasph 15 97 ¥ &g et 10 ISt H a1 Gt - 3
TSR ST B TSt T HETnT ‘ N Sl
ﬁﬁm‘iﬁsﬂqml ' :- o ; w

® o g - R

The Gestation @'md of a cow is: = < IV' =

Choose the m@ appropriate answer from the d. . ﬁg’k} o)

Choose the most appropriaté gnswer from the

&

options given below:

(C) 281 day (D) 101 days 1 R e frredl & & @ATf® IUFw ST I+
(E) Questiongot attempted (A) axllLb-IV,c- Ld- 1@
maﬁmﬁmﬂm%‘ B) aNILb-Lc-IV,d-IkY

©) a-I,b-III,c-II,d-Ivgj
D) a-IV,b-I,c-1I,d-E3

(E) Question not attempted @i“ﬁ'ﬁw

[Contq,,




\7{ The price of milk is fixed on the basis of the

\YQ Which of the following salts in *mineral mix’
content in it ‘

- prevents poitre in cows?

Choose the most apprepriate answer from the

options given below:

(A) Carbohydrate

Choose the most appropriate answer from the
options given below:

(A) Sodium Carbonate

(B) Lactose _ (B) Cobalt Chloride

(C) Protein ' (C)  Sodium Hydroxide

(D) Fat (D)  Potassium lodide

(E) Q‘uestiot.l not attempted (E)  Question not attempfed

T H T 5a e | 1 AT F AR frrfafiaa i @ F-a1 o9 @i fgor § faemt
qr?mﬁmiﬂ?ﬂ%l. . AT rarger (T A RS ST 27
ﬁﬁ%‘%ﬁﬁm‘tﬁﬁmww%i mﬁmaammmﬁ

e -
(C) i | IR, wiitin
“ . R Q) !ﬁf@m [QEEIEGIES]

p) Far (R) WRfEw swriers ¢

(E) rafa wa (E) oaf@ H%;

\77 Extra feéd'mg of pregnant cow should be done\

9  The highest milk yielding breed of a cow of
after of pregnancy.

Indian origin is: *
Choose the most appropriate answer from the . N a - BT T
. . bel Choose the most appropriate answer from th
options given below: .
(A) 20d options given below:
ays :
(B) 1 month ' (A) Tharparkar 5h
(©) 3 months ‘ ' (B) Sahiwal
: (C) Sindhi
(D) 6 months
' D) He A
(E)  Question not attempted (D) atyana ®
N N Fif ; g ¥ - (E) Question not allempled
ﬁmﬁﬁaaﬁmﬁéwf&mmwai ﬁ“ﬁ'ﬁﬂ“ﬁmﬁﬁwfﬁﬁmﬁ s
(A) 20fm tA) AR
(B) W@ ' (B) RIS
(C) 39E _ () fa=h
W) 6w ' (D) &
B) kv (B) g s

Contd...
TUV-Co9| | 1‘8 {0
| |
i
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copper sulphate solutiop i it.

Choose the mosy appropriate angye,
options given below: N

(A) Itchangesto g colo,

from the

Ss solution,

(B) Itremains blye. -

(C) Itchanges to orang€%blour.
(D) Itchangesto a greefiiSh colour.
(E)  Question not attem

(A) %vmﬁaaqﬁwﬁiﬁgm%,
®) IFTHEAY o
(C) U TT & T A Sirar &)
(D) THH T eET U AT}
(B) gaiaws
81  Match List-I with List-II: <
S List-I Q0 List-II
a. Stainless steel I “NNon metal
b. Gold Metal
c. Sulphur L& Ailoy
d. Magnesium  IV\& Inert metal
T IR gt - 8 F :
et -1 Tt -1
a. E=E i . 3Erg
b. WUl 1. €0 arg
c. WEHL N ﬁarmg
d.  EehREw IVey e
Choose the most approptigte answer from the
options given below:
;%ﬁqurlqﬁmaﬁ # & weltfires 39g I IATC
4 a-mbyIVie-Ig L
@f a_H,b.iIII,c-IVd)-I
(C) a-I, b IV,c- HNI
73) a-1II, bi IV,c-1, g4 .
(E) Questionnot attemgd / STFaRa T
(Ve
TUv.co9] & S

19

‘ f
&2 Which of the following is not a property ©

metals?
Choose the most appropriate answ
options given below:

er from the

(A) Most metals are nggeable.

(B) Metals are sonorops;i

(C) Most metals have Jow melting point.

(D) Except lead mosf metals are good
conductors of heafs~
Question not attern 5t ed

ﬁﬂﬁwﬁﬁﬁfraﬂq ff e P U UL T &7

mmﬂammmgﬁ

TA) SRR T St eft &

®) st s e

by sifeier g 35 et 5 A 8

D)  ASH SIgH AT TTIE FHT I AT
Breft & €3

(B) srgafay" L

£ ,
The famous song of the Bhils of northern Mewar = -
is:
Choose the most approg{;ate answer from the

options given below: ¢ 59

(A) Maand (Q); Kurja

(C) Mumal (D) Humseedo

(E) Question not atterﬁ:"pied

I farTs F st @ L“‘*ﬁa%

frefafeq i @ Iggw I -
(A) wie ®) F

C) T THHISY

(E) Sgafaws \Q‘}P

‘Dhol dance’ is assocxagg with which area of
Rajasthan? d
Choose the most appropqate answer from the
options given below: 3

(A) Jhalawar By Jalore
(C) Sikar @) Jaipur
(E) Question not attempted
BIe ToA TTET o o 817 & Tearfoee 9
Frafafaa fareai d @ 3"3“'3?1?3%
(A) HeTETS \Q)'
(©) Hr @y SR
(E) Igafawd &
s
© [ Contq..,



\95\ When was the first battle of Tarain fought? '
Choose the most appropriate answer from the
options given below:

(A) 1194 AD. (B) 1191 AD.

(©) 1192A.D. (D) 1193 AD.

(E)  Question not attempted

TS T TE I el 12T T
ﬁ%&ﬁﬁmﬁémmwﬁ:
(A) 194w B) Yo

©) 11927 &, D) 1193T &

()  rafa s

In which year was the Kota Rajya Praja Mandal
setup?
ﬁammﬁw@rmﬁma&ﬁg@
Choose the most appropriate answer from the
options given below:
ﬁﬁ%&aﬁrﬁm‘fﬁﬁmﬁbﬂ;mm H:
(A) 1945 B 1942

(©) 1943 (D) 1944

(E) Question not attempted / iﬂfﬁﬁ?‘r e

A part of integration, when>was the Rajasthan
Board of Revenue established?
Choose the most appropriate answer from the
options 'given below:
(A) December 1950
(B) September 1948
(C)  October 1947
(D) November 1949
(E) * Question not attempted
GHIFSH % WIT % §9 § TEH T 91 6
ﬁw%f@ﬁm’fﬁ@mﬁbmwgmmgﬁ:
(A) femwr 1950
(B) fraw 1948
(©) Sz 1947
D) TEwR 1949
(E) orgaf@ws
TUV-C09]
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Who invented the musical instrument

“Mohan Veena”?
Choose the most appropriate answer from the
options given below:
(A) Dr. P.K. Sethi
(B) Karpur Chand Kulish
(C) Jagjit Singh
(D) Pt. Vishwa Mohan Bhatt
estion not attempted
frefefaa fredl 3§ & gaifen Sugd ST I
(A) SAF G (B) FY TR FlowT
© wniafie Q) o frmHET e
(E) Aguiays

According to Census 2011, which of the following
districts of Rajasthan had the lowest population
growth rate during the decade of 2001-2011?
Choose the most appropriate answer from the
options given below:

(A) Jaipur (B) Barmer
(©) Kota (D) Ganganagar
. (E)  Question not attempted

2011 SFRTUFT 3 STFER 2001-2011 % 2979 ¥ SR
TSI & ﬁmﬁlﬁa’ﬁﬁ%ﬁﬁ@raﬁrmﬁ
A edfr
ﬂ%ﬁqnqﬁw&q’r'ﬁﬁmavgmwgﬁ:

(A) SR (B) TR

©) ) TR

(B) orgaf@wy R

As per the Census of 201 1, the population density
in the state of Rajasthan was
per square km.

2011 ST SFTTIRT 35 SRR, ST Tt T e
e ___=afew wfa ot fedt o |
Choose the most appropriate answer from the |
options given below: :
mﬁm&ﬁwﬂmm-maﬁz
(A) 211 (B) )

165
O 201 (D) 325

(E) " Question not attempted / IR
[ Contd...
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)N The place from where the Banag river originates

TUV. o9 &

is known as:

Choose the most appropriate answer from the
options given below:

(A) Bheroka Math

(B) Mountain of Nagg

(C) Minda

(D) Janapav hills

(E) Question not attempted

T Tt et & vt 8, 7w worer e 2

Freafefa Rt 2 wratfres g e
(&) WHETS ) W

©) W) S et
(E) IqaRaux

Which river of Rajasthan originates from the
place Minda of the mountains of Vindhyachal?

Choose the most appropriate answer from the
options given below: '

(A) Bangangariver (B) Luni river
(C) Mahi river (D) Chambal river
(E)  Question not attempted

TR it HH-HY 7 fearaer vda ¥ fver s
¥ frererdt 22

frferia formedt # & waifams sugw swo:
V) wwrmad AB) A
(SIS @) T

(E) orgafiawH

Which of the following is the biggest artificial
lake of Rajasthan?

Choose the most appropriate answer from the

options given below:

(A)  Udai Sagar (B) Jaisamand
(C) Didwana (D) Pichola
(E) Question not attempted

Rreffaa & @ ToRaT A T ad F0E e
A2

et faeredl § @ waffere 39w ST IA:
(A) I[FAR ~ B)  TIEEE
(€) Jeamr (D) frerEr

(E) owwfa

e

“9&

21

By which of the following month are Raikas

known to move for pastoralism?
Choose the most appropriate answer from the

options given below:

(A) August (B) June

©)  July (D) October

(E) Question not attempted .

T, freffaa 3 @ fore e § g % forT
SRS E?

Prafefaa fered § & aaiférs 3ugw ST
(A) 3T ®) @

©) T W) IFFER

(B) gaiawd

The Bengal tiger is found in:
Choose the most appropriate answer from the

options given below:

(A) Desert (B) Mountains

(C) Delta area (D) Plateau

(E) Question not attempted

SIS TR YT 7T @

Frefoad foreredt % & waffies sugw oo

(A) TRETH (B) U=t &= H
NQ) A ER: | D) wRH

(B) Tguia

Which of the following states does not share its
boundary with Rajasthan? -

Choose the most appropriate answer from the
options given below:

(A) Haryana (B) Uttar Pradesh
(C) Maharashtra- (D) Punjab
(E)  Question not attempted

frafafaa & & S-ar o537 T9wT F Ty o
T Y | T Fan

Frffiea formredt # @ watfes suges swog:
(A) =f@mm (B) SWYRW
Q) wensg (D) USE
(E) rgafa g
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\K Rajasthan shares its North Western and Western

boundary with which country?

Ch?ose the most appropriate answer from the
options given below:

(A) "K‘fghamstan - (B) Nepal

(C) Pakistan (D) China

(E) %CSUOD not attempted

TSTET STt I afredt st afdeeft e forer 3o 36

AT W HTaT 22
i formredt & & watfira sages swCT:
(A) (B) Jaret

~Q (D) ==
(E) AgaiE %
The Septh Eastern Plateau region of Rajasthan is
also known as:

Choose/the most appropriate answer from the
options{given below:

(A) (Mewar hills

(B) £Hadoti Plateau

© Bundi Plateau

(D) “Bundelkhand Plateau

(E)  Question not attempted

TSFET o Sfaor et Uart &5 i 3 91 & o ST
ST a

frfifga feredt § @ waffars Sugw ST
(a) GrevEdr  my @EdiTeR

(C) {- 931 (D) TGS YSK
(E) & B e

Which{iof the following National parks of
Rajasthan is included in the list of World
Heritages?

Choose the most. appropriate answer from the
optionsjgiven below:

(A) {Mukundra Hills Sanctuary

(B) (Kkoladeo National Park

(C) +#Rhnthambore National Park

(D) (Sariska Sanctuary
(E) estion not attempted
F-ar a3 faa fovea g=ht A
STt febaT T 22
7 forshedi H 8 waffe\rm"amw T
(A) Tl I
®) i 3a
(€) rg_gwﬁn g ITH
(D) ¢ °(¥<‘=BT IR

(E) @E?rﬂ?rw

TUV - c09:§§ &
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\IOQ In Rajasthan this soil is displaced b

1Q1

y winds, lack,

in fertility and has more salinity.

Identify th%o:l type.

Choose thgwgnost appropriate answer from the
options giverl below:

(A) Auu%l soil

(B) Late&y soil

(C) Desésoil

(D) Black soil

(E) Quegtjon not attempted
mﬁﬁ@mmmﬁ@nﬁﬁﬁcﬁ% EGr
ST B T ST Bt 2

aﬁrquﬁ‘ﬁﬁﬂ
- %a:?ﬁi;@waff%'mwii

é%rE%‘aaT

EerA T gaT

FrelegT

ST 9 d
N |

In 2023 thﬁ
Rathore wa$ given the Arjuna Award for thy

(A)
(B)
RS
(D)
(E)
ajasthani player Divya Kriti Sinﬁ
game of:- O !
* Choose the most appropriate answer from th
options given below: g
(A) Shosthg . ;‘
" B) Pold® | 1
© Equ%ian
(D) Equgsgrian Dressage
(E) Quegt%n not attempted
2023 % et Rt fife Tts #1 o
e o W 3 R fr T |

ﬁﬂ%ﬁ:;crw%?ﬁéwﬁﬁmwgmm@:
(A)

(B) el

O © et
TR

(D)
(B)  ST7afe wx
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Who among the following from Rajasthan was*
awarded Padma Shri, 20247

‘Choo‘se the most appropriate answer from the
options given below:

(A) Shri Laxman Singh

(B)  Shri Lakha Khan Manganiar

(C)  Shri Moolchand Lodha

(D) Pandit Shri Laxman‘ Bhatt Tailang -
(E)  Question not attempted

e o Feforfa 3 & fd veeht qrem 2024 &
g o @y

Freferitaa forredt # & waffires sugs socai:

(A) o S i

(B) it sImE @ iR
(©) At uE S

(D) ufea =i emor wg A
(E) igaia w4

The National Service Scheme (NSS) a Central
Sector scheme of the Government of India is
under which of the following Ministries?

Choose the most appropriate answer from the™

opnons given below:

(A) Ministry of Womenand Chlld Development

(B) Ministry of Education

(C) Ministry  of Social  Justice: and
Empowerment

(D) Ministry of Youth Affairs and Sports

(E) Question not attempted

T et AT (T T W) I GChI Y T
S By T 8, e Pttt i & e tare
& ol ®?

Pt fredt i @ arifires Sages s I
(A) qﬁwﬁmﬁmw

(B) v ded

(©) mqﬁiﬁmaﬂtmﬂm

(D) FWW@FTW

(E) aﬂﬂﬁaﬁﬂ

\IQ

~D)

\ilL Match List-1 with List-11:

Llst-.l (Festival) List-11 (Place)
a. Summer Winter 1. Bikaner.
Festival
b. Kajli Teej I1. Jhalawar
c. Kolayat Fair . Mount Abu
d. Chandrabhaga Fair 1V. Bundi
gt-1 3 @ geh-11 1 frem Hifsre:
el @) -1 (ET)
a. tey sz fia 1. Cicaciy
b. et i 1. #AES
d. SR A v. st

Choose the most appropriate answer from the.

optlons given below:

ﬁﬁqwﬁmﬁﬁmmmgﬁl

A) a-1,b-M,c-M,d-1V

a-NLb-Le-1,d-1V
E) a-1V,b-lLe-1d-N
W) a-IlLb-1V,c-1,d-1I
(E)

Question not attempted / AT 54

Which of the folloWing is not a wildlife sanctuary V
of Rajasthan?

Choose the most appropriate answer from the
options given below:

(A) Van Vihar wildlifé sanctuary
(B) Sajjangarh wildlife sanctuary
(C) Ramsagar wildlife sanctuary
(D) Parasnath wildlife sanctuary

(E) Question not attempted

ﬁnﬁ'fﬁaaft%aﬁmmawaﬁammmq
T R
mﬁmﬁﬁmmmg}:
(A) o fer o= g nEmeg

(B) ESSHNG 9 Sl anamog

(C) THETR 3= Sfia S

(E) orgafa uu . .
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‘Statio Shiv Shakti’ or ‘Shiv Shakti Point’ is the
name of: <

Choose the most ap&)priate answer from the
options given below:

(A) The landing g}

ife of Chandrayan -3’s
Vikram lander¢sy
An Indian Poid€n Atlantic Ocean
A Space Statiof'on Mars
(D)  An Indian Station in Antarctica
(E)  Question not aft¥mpted
%Wﬁ%mwgﬁ:
NA)  TEAE-3 % fomee et SR e
(B) mﬁasmg;‘ T ety feig
(C) WIS IR WTH Y|
(D)  3ierdfee & wa Mty S
(E) igaf@ws

Which monument is known as the “Hawa Mahal
of Jhunjhunu?” < Q
Choose the most apprbpriate answer from the
options given below: '
(A) Khetri Mahal ¢

(B) Jaswant Thadd

(C) Jagmandir pal

(D) Lalgarh palace

(E)  Question not attempted

HI-H AR <G Bl eaIRer H T A frema 2
Frafafaa fasear & IqGH IR I
™ wagiuEd :}:B). REEE R

(C)  SHFR AT (D) W I

(E) SgErEsd O -

Where is the Gagron grt situated?

Choose the most appropriate answer from the

(B)
©

options given below: ey ;
(A) Bharatpur  ofB) Jha!awér

(C) Alwar ) Karauli

(E) Question not‘altdnpted

T fepet e g fRE &7

freferfaa famedt I9gH I
(A) WA oR)  weErs

(C) IR D) Heft

(E) Ifgafa w4

TUV-C09] <

\%0

\{1
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09 What did Dr. P. K. S@p co-invent
-~ Ramchandra?

(C) Jaipur wrist |

(E) Question not attempte

< 6t ¥, A Y e & ATy TR T

fepam? <

ﬁ'ﬂ‘%ﬁiﬁﬁﬂk"‘ﬁﬁﬁ Wm?ﬁ ‘
a) e o (B) A

) TFTER (B) IeFwEn

v o)

Choose the most approprm answer from

options given below:

(A) Jaipurfoot  (B) CJaipur elbow

(D) Gaipur knee

© ARFE (D) (FIX

E) < L] o
()  3rafe v

Maru Raikas of Rajasthan £#d basically:
Choose the most appropriate answer from
options given below:

(A) Goatherder (B) ¢{Camel herder
(C) Sheep herder (D) (\Eattle herder
(E) Question not attemp '
TSR 3 HIE TSI 474 840

PretferRam fredt 2 & Jug S -

(C) WFIER (D) vuﬂvﬁ%wr%
(B) gaiaws 0
N

Banjara, a well known gfc')'&p of graziers
found in the villages of :

Choose the most approprlg answer from
options given below: o

(A) Goa (B) Bihar

(C) Rajasthan (D) gi\ndhra Pradesh
(E) Question not attempiedy
mmm@maﬁ Ffat
T ST |
ﬁmﬁ»ﬁaﬁw?ﬁuﬁ%mmiﬁ: ]
(A) T (B) CRrer |
© TH (D) Ay WRY

(B) gaf@wy
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FIR comes in Bharat Nagrik Suraksha Sanhita

2023 (BNSS)?
WA AT dfgar -2023 (&t @ ww ww)
Frafefaa §g fhe aro ¥ simta i o o am
afrgr N
Choose the;%ost appropriate answer from the
options givéabelow:
Freferfiaa (et @ warffires g swc g
(A) 191 '
B) 170 <
) 173 8

@) 1784
(E) Que%m not attempted / STTARA T4

O

,‘ C@ Which of 8 following Rajasthan state projects

has been geghted the National Project status as
updated in July 2023?

Choose thg¢.grost appropriate answer from the
options gi\m below:

(A)
B)

©
(D) Anafiipur Barrage Canal Irrigation Project

(E) Quegﬁl)n not attempted
ﬁmﬁmmmmﬂﬁw

2023 ﬁaﬁ%mmqﬂ’fﬁmﬂﬁﬁm

T 87 o .
Frferfiae fraredl i & watfires Juge STCT:

rﬂwﬁmqﬁaﬁw

e vz

ST T TET S
m%mmghﬁmsﬁaaz_

:qWSW.
&

Eastggp Rajasthan Canal Project
Gonffakhi Medium Canal Project
Upp. éRajasthan Bhadra Project

(A)
(B)
©)
(D)
(E)

!

N

@Under which section among the following Zero

1\135

- 25

©
(D)

Li\ Select the incorrect pairing from the following’

feed stuffs and their accompanying description:_
Choose the most appropriate answer from the
options given below!

(A) Feedsrich in%rbohydi‘ates - Barley

(B)
©)

(D)
(E) Question noQtempted

frerfafas S0 araft w9 SR wer foRe 3 e
a4

o 1 = A oy

forferfaa frapedt 8 wartfers suge ST I

(A)

B)

Green foddeHBerseem
Non-legumxﬁu.ls dry fodder - Lucerne hay
Feeds rich mg'otem cotton seeds

(B)

Which of the folﬁving is a coloured broiler
poultry bird? ()

Choose the most @pmpriate answer from the
options given below:

(A) CARIBRO BHANRAJA

(B) - CARI PRI\%

(C) CARISONALI

(D) CARIBRO gSHAL

(E) Question ndifattempted

Frerferfiae & & M= it sitger Aifeg e &
Freofian i 4 § v 7 s g
(A) s GG ARIBRO DHANRAJA)
B) & fiar (CARE PRIYA)

YO et GARISONALD)

(D) WW%ARIBRO VISHAL)

(B) SI@TH O
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Which of the following animals is used. for the
Preparation of vermi compost manure?

Choose: the most_appropriate answer from the
options given below:

(A) Leech (B) Silk worm

(©) Earthworm (D) Millipede

(E) Question not attempted

Frefiian # & a-an sig anfferrdne wme am
T oA Smar 29 ' |
ﬁﬁﬁi@wﬁm’iﬁﬁmﬁmmgﬁ:
(A) S (B) fires o (em e
NQ e () fiehde

(E) ogaf@ vy

In Rajasthan hot, dry and dusty winds start

blowing in summer which is called .

Choose the most appropriate answer from the

options given below:

(A) Siroco (B) Taku

(C) Foehn (D) Loo

(E)  Question not attempted

TSt 3 3w =gy o o, Y7seh 39K et it v wer

et € R 8N ST R

A o o et 3 & waret Jugw s
(A fatmr (B) d%

(C) W& AV

(B) gaf@as

Rajasthan receives most of its rainfall from

Choose the most appropriate answer from the |

options given below:

(A) South - west monsoon
(B) South - east monsoon
(C) East - west monsoon

" (D)  North - south monsoon

4

(E)  Question not attempted
TSy | 2Aftran gt
2
F9 e e fered & & WA Jugw SWCT:
(A)  f&ror-afirdt R
feror-geff arga
(C) yeff-afirft AT
(D) uti-faroft wrga

|/ 9 At

4{ Several types of
' forests of Rajasthan.

. Choose the most appr

(E) orgafa vy

grasses are found in the thog

g them.

. on .
£, the main grass am |
Identify t answer from thg

opriate
options given below:
(A) Jharbcr.

(C) Fog )
(E) Question not attempte . :
W%maﬁﬁaﬁmﬁmmm
7 T e T Y G o 1
ﬁurl‘aﬁa?rﬁraweq‘iﬁﬁwfﬁhfwgmmgig
(A) FRE XB) - 8amr o
() Fm (D) W

BT
(E) oiaRa w4

(B) Sevan
(D) Kair

\{ Which of the following statements are correct? -

a. Melting of ice is a chemical change.

b. Formation of curd from milk is a chcmicx'
change. ' ;

c. Rusting of iron is a chemical change.

d. Dissolution of salt in water is a physical
change.

- Choose the most appropriate answer from the

options given below:

_(A) a and d only.

(B) a,bandconly

(C) bandc only

(D) b, canddonly

(E)  Question not attempted
Frefefaa § 4 Sd s wd 20

a. T 1 R o rarafe ahady

b R T T O T i

S RS e e vt gt

A= fow e ferreit o & wraiferey :
(A) ¥ a3y TSI
(B) ¥ a, b3fiy ¢ |
(©) FaeTbaiv |
D) FADb, ¢ 3y g ;
() SrgaRea way
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m Choose the irreversible change from
. following:

Choose the most approprlqi answer from the
options given below: foe)

(A) N

_(B) Compressing the spofigé

(C) Chilling of milk

(D) Burmning of wood

(E) ‘Question not attempt

FrafeRaa # @ srgermoia = g
freffa fasredt 3§ & waifigy sugws sev
(A) whHfgaar (B) oFFs &1 adisd
(C) ZEH A D) O T ST
(B) rgaRa ws v

Melting of ice

magnesium is cleaned and gQught near a candle

flame it burns with a brilliarff) ;

Choose the most appropriate answer from the

options given below: =y

(A) Blue light @) Mnite light

(C) Yellowlight (D) 'Red light

(E) Question not attempted]

BT 3 T T B () 7S B AR

I U1 ik I HHa! hr ERECTASIGIE]
Sedftal

frfaRad fepeat &

(A) TSR A THRT & G

(B) THSHAR GHE YT oh €T

(C)  <TohaT oY ST o AT

(D) THEHER AT NeHIE

(B) orgafa s O

Who were the Phad reciters©)

Choose the most appropriate answer from the

wgmmgﬁ

options given below:

(A) Banjaras B)

(C) Kalbelias (D)

(E) Question not' attempt%g*
g % T H A?

fraforfad famedl § @ waﬁig' IqgH IW I
(A) SISO
(C) e (D) C&;rm
(E) raiayd

TUV-co9] <

hopas
agrada

When the tip of a piece ga thin ribbon of

27

the\PI.ZQ_ Forts situated on high mountains are called:

4
Choose the most appropriate an%er from the

options given below: N

(A) SainyaDurg (B) Dhanvdn Durg
(C) Giri Durg (D) Parikitburg
(E) Question not attempted Q

43 Tl v fera fovet B e
'ﬁﬂf‘erﬁaﬂﬁmﬁ%naff&a;zqgﬁmaﬁ
(a) ¥ (B) TR

wQ fiRe (D), T

(E) RRasa \

125\ At 10% per annum compougd interest,
compounded. half yearly, in how rilich time will
L~ I

a sum increase by 10.25%?
24 m@ths

(A) B)
(C) ~ 11 months (D) 12 months
(E)  Question not attempted 0

10% aieh STt ST T, STeifeh pAIST STaaTieh
AR, Wmﬁuﬁvﬁrﬁzs%ﬁaﬁ; .
B s@f?

15 months

(a) 157 (B) 24 q%
{ (C) 119 D) 1208
(B) ARG wH

6 . The ratio of milk and water ing liters of a
mixture is 5:3. What amount of itk should be
added in the mixture to make the ratio 9:4?

(A) 12 liters (B) 14 liters
(C) 16liters (D) 15 litgfs
(E) Question not attempted 23
64 Tfiet 3 firsror § g S At 7 o1gura 5:3 B 3w

ﬁmﬁﬁt%mmmﬁn@mg 4%

o o0
@A) L2 @) 14 a’r{i
(©)  16%X (D) 15 Fﬂ'gq
(B) Iguia s ' Y|

7 If8A =9B =10C, then A:B:Cis: %
af& 8A =9B = 10C, @ A:B:.C® (D
A 45:40:36 (B) 40:45:36

(C) 45:40:48 (D) 32:36:45

(E)  Question not attempted / ST Wy
[ Contq,_
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128 A sum of 2 300 is to be divided among P, Q and \80 The full form of N. F. E. with refe

-
R in such a way that Q gets ¥ 30 more than P and nutrition of cattle is:- w
R gets ¥ 60 more than Q. Then the ratio of their Choose the most appropriate answer fron
shares is: options given below: 1
¥ 300 HTMRTP, Q 7T R % 39 e slemRfF Q - (A) Nitrogen Free Extract ' ‘,
FPET30 wﬁmmﬁaﬂ(RﬁQ@? 60 A1 (B)  Nickel Foam Extract
T & 9% R & 3T R (C) Nitrate Fluorine Ether :
6A)  4:5:6 ' - (D) Nitro Fluoro Extract - 1
B) 3:4:5 (E)  Question not attempted
©) 346 TR 35 Greor 3wt i o . { H g
By 23 Freetan et o & v e g,
(E)  Question not attempted / Ngﬂﬂ?f aq \(A) ﬁmx
' (B)
\122 Feeding large doses of vitarﬁin ‘D’ one week © mmgw‘
before calving protects the cow against: @) q@wm
Choose the most appropriate answer from the E) m o
:)Ap;lon;g:l;e;::éw: A ‘ \Q Continuous inbreeding increases: L
Choose the most appropriate answer from
(B)  Foot and mouth disease : options given below:
(C) Udder Congestion @) Fertility
(D) Ketosis ® Homosygosity
(E)  Question not attempted © Het erozygosity *
mﬁma%@mﬁémﬁm A (D)  Ovulation capacity
™ A S T (B)  Question not attempted
e e & IR S-S5 gy 2. ';
Freer e i & st g e o, - e e o 4t rafires suge s gt
4) P (A) S gy
(B) 1  Heweht T (32 W w1 feefie, (e —
©) o=t ﬁﬂ@_d? : ©) ﬁ“"ﬂ“ﬁm
(D) Heifaa D) it —
® i . ®) sty |
TUV.-C09) & 28 [ Con

SZXD( l
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1l 20.4, |.1, &
2] (0&-,[04!4

Ry Al 0.’>L
L
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—

Which of the fi |
L3 llowing are the endoparasites of || 3§ What is the LCM of 20.4, 1.2, 8 7

cattle?
a. Lice

b. Tape worm

c.  Ascaris
d.  Liver fluke
|
Choose the most appropriate answer from the
options given below:
$d

(A) a,candeonly (B)
(C) b,canddonly (D) a, b and c only
(E) Question not attempted

d and e only 403 _

frafafad 3 & F-8 ARwT ¥ i g &
a. ST :
b, HaTERY
t. i

. AR T

. ﬁ?ﬁﬁ(ﬁ?ﬂ)
ﬁﬁqﬂqﬁmﬁﬁmmmgﬁ.

(AY FacTa,c3ie (B) Haad3iRe

€) FaADb, c3d (D) %‘dﬁa,bﬁtc
(E) IgaiawH

133 The LCM of two numbers is 8 times their HCF l
and sum of LCM and HCF is 108. If one of the

numbers is 32, then what is the other number? '}1

3 GeaTsif ST LCM 37 HCF T 313 THT 8 T
LCMd HCF #T3 108 81 aR S § v 32

2, o ey T 7T 7
(A) 28 B) 36
©) 32 (D) 30

(E) Question not attempted / IR 94

134 Three numbers are in the ratio 4:5:6 and their
HCF is 8. The LCM of the numbers is:
i e 4:5:6 %mﬁ%aﬂtmﬂw 8@l

HETsii &1 LCM &

(A) 120 B) 960
Q) 480 (D) 240
(E) Question not attempted / Frd 74
Tov.c 2 29
09] 4 2\32 2
2| by L

2,

2 %
\S/"’ Yy DL

20.4, 1.2, 8T LCM FIT &7

T—A) 408 (B) 408

(©) 816 (D) 816
(E) Question not attempted ) Frgatd TF

: i was
Rajasthani literature of the Bhakti period
mainly written between '
Choose the most appropriate answer from the

options given below:

' (A) 1850 to Present time

(B) 1050-1450 A.D.

(C) 1450-1650 A.D.

(D) 1650-1850 A.D.

(E) ~ Question not attempted

wfen e T TR AR
T ferar

freffaa fredt 8 & waifirs Jugw ST
(A) 1850 & I HHI

(B) 1050-1450T. ., -

(C) 1450-1650 T, .

(D) 1650-1850 T, &.

(B) Fguid o

Which genre of Rajasthani prose and poetry were
written in Sortha verse?

Choose the most appropriate answer from the
options given below:

(A) Rupak (B) Saakhi

(C) Dwavait (D) Vaat

(E) Question not attempted

ﬁwmﬁwaﬁtwmmwﬁ%@m

9

freierfaa faeredi & @ waifere sugw swoay,
(a) w9 (B) @G s
Y&l T D) 3@

(B) SAguiawy

[ Coneq,



i Ubhav Vagp» i iritual
teachmg o Whi%f o llcontams the spiritual
Choose the mogg) 0 ‘owing
Options given bé']‘ el::1.71)roprmle answer from the
(A) Saint Ma%lrii

(’ N
(B) Mahal‘Shi(Bavalram
©  Ram Chairgin
M)  saint RariaBa;
(E) Question Dot attempted
J& Wm’ﬁﬁ%ﬂﬁ#m
SreaTfe ®
("1':') R"'za & ﬁﬂmf&mw;mmgﬁ
. T ®) - e
( -) U9 =Ror o () | TS
E) orEimeg
Besides Gogaji, which other folk deity is revered
as the God of Segpents?

Choose the mésd appropriate answer from the

(A)  Mallinathiy, (g) Paﬁuji
© Ramdevji s (D) Tejaji

(E) Questio{;ﬁét attempted
TIVTISF 35 ST 19- e 3T P it S 3

LRSS G eV

Frfafea 1 3 & aaifis sage s
(A) weAFTRl B) g

(©) m%.a-sﬁf“ @) Ah

® smop

The life history#f saints which is available in
Zren, .

poetry form in ﬁa’jasthani language is known as:

Choose the most appropriate ahswer from the

options given below:

(A) Marasya;jj (B) Vaat
(C) Parchi %} (D) Prakas
(E) Questionngt attempted

et o Sftar et foh TSreaTt T & ey w9 3

ﬁ'q%f\@?‘f s?’jﬁﬁ“ i“ I ) m?
(A) W (B) d

@ it (D) Y

(E) agﬂ'ﬂ?m%r

TUV-co9] ¢

30

141 Forests and waste land belonging 1, lhé
\ government

options giver!QPlow:

(A) Jaipur® (B)  Chittorgarh

© Awar® (D) Bharatpur

(E) . Question not attempted
!ﬁanmwanmm Rea@: ]
| ﬁwﬁ-rﬁaﬁﬁﬁﬁ&vaf&aavgwmgﬁ: |
4) AN ®B) fFrterd

© WK} D) swERd

(E) rgaRays

. Choose the most appropriate answer from the’

d private  individualg
communities aL§ called:
Choose the meopt appropriate answer frop, the

options given®dlow:

(A) Private fOrests

(B) Protectgd forests

(C) Unclassed forests

(D) Reserveg forests

(E) Questi@not attempted ]
weaTtt i fréeaferat steraT Tt & wafing o
P ey & wrafirs Juge sm g, |
A fsispg B Weaew ;
(C) figess (D) ImRma

(E) W&r |
The SitamataOWildlife Sanctuary is located af: |
Choose the l‘:ﬂst appropriate answer from the

Which of thekgllowing natural resources do not
require conservation?

options given Blow:

(A) Solarefiflgy (B) Water E
©) Air (D) Soil |
(E)  Questidihot attempted | *
ﬁw%%ngmaﬁa o v
Y ATETIHAT Gy 29 |
ﬁq%%aﬁﬁﬁﬁﬁuaﬁmmmﬂﬁ=

GV B)

©) =

(B) i@y R W
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A shopkeeper hou’:,hl ball pens at the rate of 8 for
¥ 40. How many ball pens should he sell for T 30
in order to earn 20% profit?

Th THAER A X 40 8 @ratﬁmaﬁq@iﬁrzo%

maﬁﬂm%m@mmﬁ
: T d=H

7

(A) (B). .4 >
© 5 .. (D). - 6. e
(E)  Question not attempted / 3taft 9o

A shopkeeper sold 2 bedcovers at ¥ 594 each. He
earned 10% profit on one and lost 10% on the
other. What is his overall profit or loss percentage?

(A) 2% profit (B) -No profit, no loss
(C) 1%Iloss (D) 1% profit
(E)  Question not attempted

T THAER A 2 91RY, T I 594 8 31 T W
H 10%m§3naﬂtauﬁqt 10% =1f g8 ot

ﬁmmmammmﬁuﬁmaw%"
(A) 2% (B) TN T
) 1%EH (D) 1%
(B) Agaf@ gy

A shopkeeper sold an item at a profit of 17.5%. If
he had bought it at 8% less price and sold it at
30% profit, he would have earned ¥ 202 more as
profit. Cost price of the item is:

U THHET Y AR 17.5% A a e afs 3eA
I8 ] 8% FH qgaqt@ﬁaﬁ-sﬁ?ﬁaﬂtm%mqt
3=ft Brcht it 3@ T 202 3 T FTH GIT Eam T

LERE SRS
(A) Z 1900 TBP 72000
(D) Z 1960

(C) T 1980
(E)  Question not attempted / JTAfa 521

An object is placed at a distance of 60 cm in- front
of a plane migror. What will be the distance
between the object and image formed by the
mirror?

mmaﬁw%mﬁwﬁ'waﬁgaﬁ 60 cm ¥
2t 9T T@T ST, a1 9] 3 A0 g S AT I6E
affersr 3 ofter B g0 Fbereht B2

Choose the maost gppropriate answer from the
options given below:

ffafiaa fameal § @ @aifies Jogw S :
(A) 150 cm B) 60cm
(C) 100 cm (D) 120cm
(E)  Question not attempted / ITaf@ 94
3

R

149

N

What will be the number of images formed for an
object placed in between the two plane mirrors
placed at an angle of 60° between them?
@aﬁﬂw’%aﬁwmt@a’rmzﬁuﬁ%d’ﬂ
fiera g ¥ s ol wfaifeisit T @EAT faperft 21TiT?
Choose the most appmprlate answer from the
options given below
ﬁﬁi%tf@aﬁiﬁ?ﬁﬁﬁaafﬁﬁsqgﬁ I
(A) 6 B) 3

©) 4 ) S

(E)  Question not attempted / A 94

A spherical mirror in which the outwardly curved

part works as a reflector is called :

Choose the most appropriate answer from the

options/given below:

(A) Convex mifror

(B) Plane mirror

(C) Parabolic mirror

(D) Concave mirror

(E)  Question not attempted

w et aor, fraepr smet Y I afsha WT TS

quraden i Wifdr 1 AT ¥, T8 FEA 8 0

frefafiga faeal § & waifas Iagw® ST el
Y)W TG

(B) HHAS F4UT :

(C) uEdtys (Fuaifa) atfur

(D) Tade 4T

(B) raf@gyd

A cross in which the F| generation is crossed

with the recessive parent is called:

Choose the most appropriate answer from the

options given below:

(A). Polyhybrld Cross

(B) Recnprocal Cross

(C) Test cross

( D) Back cross

(B) ' Question not attempted

T gt (shi) e By i@t @1 d@htor aTrey
S | T ST 2, FEATdT 2
frfofiaa fomeal § & waifas Iagw 3T A

(A) STEHHL GHT

(B) shH GRTOT

(C) whaom (28) §H
(D)  WellT (%) WO
(E)

Srafa 94
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